TOPICA

\umbers to 10, Addition and Subtraction Within 10
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2. Write the number in words.

3

3. Tick (¥ ) the set that has fewer balls. AO!

Set A

Set B

[ ] is greater than { ) )




5.  Fill in the blank with the correct answer.

5+2=

6. Use the




9.  Fill in the blank with the correct answer.




10. Complete the subtraction equation.

TS

11.  Colour the star that has the same answer as 8+2 |




12.  Fill in the blanks.

S VIvIVIVIVIVIVIY

e Seteteteh

There are fewer stars than hearts.

13. Study the number pattern below.

0] (9 [7] 6] [4

BN

The missing number is




O

There are | more pencils than rulers.




15, Siti has 7 hairclips.
Her aunt gives her 3 more hairclips.

How many hairclips does Siti have in all?

O

Siti has | hairclips in all.




16. Mother bought 10 eggs.
4 of them broke.
How many eggs were not broken?

eggs are not broken, . .

~-- End of Paper ---
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2) Three

3) SetA

4) 10 is greater than 8
5) 5+2=7
6) 3+6=9

7) 5+5=10

10)6 -3 =2

1)1+9

12}_The_|.'e are 4 fewer stars than hearts
13)The missing number is 3

14)6-4=2

There are 2 more pencils than rulers.

16)7 +3 =10
Siti has 10 hairclips in all.

Pgl



16)10-4=6
6 eggs are not broken.

Pg2



